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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 o =fy (Problem Figures) &= f&w 17 =¥ fsFesit (Answer Figures) &
ot v & wfeafea &1 g9 & mF o (Problem Figures) 3 =X

et & & A o & 77
Problem Figure 7 Eé Chosen Option : 4

//

Answer Figures

Question ID : 9864493747
Status : Answered

KA TINA R
I NANANIALA
A B € D

The below figure is embedded in one of the four answer figures. Which of the figures
contain the below problem figure?

Problem Figure

/]

Answer Figures
o
A B c
Ans x 1. A
X2D
X 3B
vicC

Q.2 o & ¥ Fia v 9T Tomane § S 3§ 2017 § 9Rg TR @1 Question ID 10864492379
Frﬁ T Wﬁ . uestion :

‘Who among the following is an Indian gymnast who received the prestigious Padma Shri StaiisiAnswored
Award in 2017 by the Government of India? Chosen Option :1

e TR A
Sakshi Malik
i iy

PV Sindhu
5 F® gl
Koneru Hampy
| BT SHTAHY
Dipa Karmakar

A

D

x

x

v

Q.3
Question ID : 9864494124 ]
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FC O % 9fad A 35 § | 39 9fFd H X F I A% § 1741 § F4@tE Y Status : Answered
T T afg T 14a7 §1 T ¥ @ 39 39w T @ 9fEfda & oo ar X Chosen Option : 1
& T ¢ H 740 g A gl d9ied # g fead om §?

Students are sitting in a row in which the position of X is 17th from the left and that of Y
is 14th from the right. If they interchange their positions, X's position becomes 7th from
the left. How many students are there in the row?

Ans X 1. 21
X219
X522
V20

Q4 =Rl seH &1 39 F1d gu g uifa w1 & far o #a @

. Question ID : 9864493929
e 3w wag & = &

Status : Answered

RB75E%M3W48Q9#B2ASMS Chosen Option : 3

Using the following sequence, determine which of the given options does not belong to
the group.

RB75E%M3W48Q#B2ZASMS

Ans - X 1.3Q2
v 2 AHM
# 3 REW
X 4 B%4

Q.5 fav 7w wod X AR &Y 3t aw = & Pela@a Fuat § @ S Faa

Question ID : 9864493956
TR F ol 3= ¥ forw wEea B

Status : Answered
Chosen Option :1

50 TSt Y U FET # SO W X T FA FAT §?
FUA :

1Y & & X ¥ 4 7 &= § 3 &= @ 304 3
2. Z N OENT X W 2 B P £ 3 A @ 32§

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘What is X’s rank from the top in a class of 50 students?

Statements:
1. Y’srank is 4 ranks below that of X and 30th from the bottom.
2. Z’srank is 2 ranks above that of X and 32nd from the bottom.

Ans x1.

fET T Wo & 3o} &1 & [T 1 3hell Tocg &, Faeh 2 e gdcad =T
gl

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

K2

foT 91T wae @ 3oea & & AT 2 el qaeq §, SEld 1 3Hehell 9T 4T
2l

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

3
BT I T T e & & T ar ar 1 a7 2 gaeg 21

Either 1 or 2 is sufficient to answer the given question.

< 4
T 71T 937 & 3ca¥ & & farw 1 3k 2 & g9eg &

Both 1 and 2 are sufficient to answer the given question.

Q.6 v et vk R ATE Fee B, " A WYL A gepelar o 1 B
& F=h 2w e i T ¥ SO defT &7

A man looks at a portrait and says, “She is my Father-in-law’s only grand-daughter”. How
is the girl in the portrait related to this man’s wife? Chosen Option :1

Question ID : 9864494216
Status : Answered

Ans
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Cray
. Daughter
o, TE
Sister
X3 AT/ AT
Niece

X4 AT
Mother

v

Q.7 & ¥ deF-3TFTT (Problem Figure) & 71§ ScaR-HIHiaT (Answer Figures) &

# v & AT ¥ 9F S s # @ Question ID : 9864494056

Status : Answered

Chosen Option :2

Problem Figure

><

Answer Figures

>Rel8

The given Problem Figure is embedded in one of the given Answer Figures. Which is that
Answer Figure?

Problem Figure

> <

Answer Figures

S[B[8

Ans X1A
V2B
Xs3C
X 4D

Q.8 Ify WHFIOT 3x% - ax + 6 = ax? + 2x + 2 F F&P TF & (TNE) 7
o wre a3 w Question D : 9864492796
ar a T YATCHAS AT F4T Fe?

If3x? - ax + 6 = ax® + 2x + 2 has only one (repeated) solution, then the positive BEE L e e
integral solution of a is: Chosen Option : --

Ans (1_2
X 24
X35
X 43

Q.9
Question ID : 9864494052

Status : Answered

Chosen Option : 2
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T T R Rk T T A s s e =g
FT W FueT 2T B

15 Swadr 2017 & X & 30y 241 o9

FYA:

1. X 393 sE Y & 50 I =sv ¥
2. Y ¥ A & 20 99 orer §

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How old was X on 15 January 20177

Statements:

1. X is 50 years older than his brother Y.
2. Y is 20 years younger than this mother.

b !

fedr 9@ geeT &7 Il & & AT e 2 AT § e e 1 g wET
gl

2 alone is sufficient while 1 alone is not sufficient to answer the given question.

W2
YT T ST 3t e & BT F ar 1 3t 7 & 2 wIeT &
Neither 1nor 2 is sufficient to answer the given question.

K3

a3 10 92 & Il & & AU e 1 waTeg § ofdeT rher 2 gy wEt
2l

1 alone is sufficient while 2 alone is not sufficient to answer the given question.

r 8
f&3r 37T To FT 3eaT & F v 1 3y 2 =t 9T

Both land 2 are sufficient to answer the given question.
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Q.10 el g & 398 & ey ¢ s PR st sl s g 7 2

Ans

‘What happens to the Potential and Kinetic energies of a body as it falls down from a
height?

<
sHdr Tufas FaT 9¢ I &, 9fF afas s oe s &

Its Potential energy increases while its Kinetic energy decreases.

X2
s Bufaa v s sar s S AT &

Its Potential and Kinetic energies decrease.

< 3.
sah T TR s F P MNEdT g AT ¥

There is no change in its Potential or Kinetic energy.
W 4
THFr Teufas FaT &7 & 1T §, Fate e a7 ag Jar & |

Its Potential energy decreases while its Kinetic energy increases.

Question ID : 9864493382
Status : Answered
Chosen Option : 4

QN
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Question ID : 9864493078
Status : Not Answered
Chosen Option : --
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frrafof@a ot v 3 sgwa A smafa w1

A 3AEaA
B  SeldATcH ol

C  WIpiceh ==
D f=ma

Arrange the following in a proper sequence.

Mutation
Reproductive isolation
Natural selection
Evolution

Ans 1 C.B,A.D
W2 AB,CD
X3D,C B, A
X4 A CDB

Q.12 v 3 BT o A qOT F W 20 B & A @ gu s
g ¥ smafaT 3 wrefda Ao & & o s .l

w il gRssih

Question ID : 9864493623

L . ) . . Status : Answered
An incident ray strikes a plane mirror at an angle of 20° with the mirror. The angle

between the incident ray and reflected rayis . Chosen Option :1
ans X 1.20°
< 2.50°
W 5 140°
X 4 40°
OB o U, X V ¥ 9 il q,,?rf #r 3R 2l Question ID : 9864494037
MET W, 2T U # 5 ﬁ'ﬁﬂmﬂ EEEI'UT & 3‘ﬂT %l Status : Answered
Ch Option :4
omET X, T W T 3 feider afdawm &r 3T 81 eeneren

MET Y, MET X T 5 Teieiey 3cax Fr 3%
AT Z, AT X & 7 Troirefier i@ Hir 307 ¥

FiT T T Trefr @ o g 27

City U is 9 km towards the east of City V.
City W is 5 km towards the south of City U.
City X is 3 km towards the west of City W.
City Y is 5 km towards the north of City X.
City Z is 7 km towards the south of City X.

Which of the cities lie on a straight line?

Ans 1 VW
&< 2 YWU
/3 UXZ
v e XZY

Q.14
Question ID : 9864494173
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PRl oer #, e REe (7) g gai o Few s &1 Re Status : Answered
T Rodl ¥ FUeud HEAT F 90T B Chosen Option : 4
8,12,16,20,?

In the following series, one number is missing as shown by the question mark (?). Select
the missing number from the given options.

8,12, 16, 20, 7

X 1 22
22

X 2 32
32
26

K3
26

'y 24
24

Q.15 377 a1 &Y,
(-8)[36 + {7- (-2)}] = (- D{19- (-3) x (-5)} =2
Solve the following:

(-8)[36 = {7-(2)}] = - H{19-(-3) x (-5)} =7
Ans «1. 2

X2._2
X5 4
X4 4

Q.16 ar FEarsit 1 Urhe 0.324 ¥l g ¥ v wEAr 1.2 ¥ @ wEw; 4w ¥?

Ans

Question ID : 9864492919
Status : Not Answered
Chosen Option : --

Question ID : 9864492660
The product of two numbers is 0.324. One of the numbers is 1.2. What is the other

number? Status : Answered
Ans x 1. 27 Chosen Option : 3
X227
< 3.0.027
v 4027

Q17
oo forem@ I W ek HCl I T ke g & 2 Question ID : 9864493467

What is the action of dry HCI gas on dry litmus paper? Status : Answered
Ans & 4. Chosen Option : 1

e feaw IR o TT & qRafdd & A6 § |
Blue litmus paper turns red.

v &)
e AT orer e AE 99T 39T TT F8l 9o 2 |
Blue or red litmus paper does not change its colour.

< 3.
e Rreaw d9T T T F aEfda S sar &1
Blue litmus paper turns white.

X 4
o foread 9 et w1 & 9fEafaa gt sar g

Red litmus paper turns blue.

Q.18
Question ID : 9864493985

Status : Answered
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ﬁvwmﬁaﬁwmmaﬁ&ﬁrwmaﬁﬁ:aﬂnﬁ(mwl Chosen Option : 1 J
FFTT FT FREITT T E IFFET (HIA &) TS 2

A
SUETR FHe Afgee F| T Afgene #iC §

s
1. $T AR Al #
2. T FHe AT §

Consider the given statements to be true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:

Most lawyers are females. Some females are mothers.

Conclusions:

1. Some mothers are females.
2. Some lawyers are mothers.

Ans v Fael forshy 1 3TTEIOT HLT g
1.

Only conclusion 1 follows.

1 3R 2 2 e F3 #
Both 1 and 2 follow.

" aer TSy 2 3TEROT FRT B

Only conclusion 2 follows.
1 3R 2 2t e @ w8
Nether 1 nor 2 follows.

Q19 JIAH Horad &I forTess &7 & gisnfya armarge Question ID : 9864493097

Status : Not Answered

x

x

Syngamy is defined as:

Ans x1_
TEHITRAGHT & T YFHIV[HT 7 W T T Horded

the fusion of one of the sperms with the synergid
373 & WY YHIULHT H W TF T HoAT
2

Chosen Option : --

the fusion of one of the sperms with the egg
, TR IR F s
the fission of one egg

T 0T & fa@sa
Ka 22

the fission of one sperm

x

** 2503 35% Heh STaT %? Question D : 9864492726
38% of 250 is equal to: Status : Answered

Ans X 1.104.5
v 295
< 3.76

Chosen Option : 2
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Q.21 2y &7 Sl Y Fe F ol g Y Wl Y@ f =geew wewm w=w g7

MM
[

‘What is the minimum number of straight lines required to construct the following figure?

MM
[

Ans X112
v'213
<314
<411

Question ID : 9864493896
Status : Answered
Chosen Option : 3

Q.22 v Feag # 921 A el oA Toh-gEL H feheel A R 87
How many times in a week does both the hands of the clock will coincide with each other?

Ans  of 1168
X 2.160
< 384
X 4.56

Question ID : 9864492534
Status : Answered
Chosen Option : 2

Q.23 2018 #r e H fgearar ARE FUA FHITF F A€ €5 F ¥ A oF
o fmam o &2

‘Who took over as the new CEO of IT giant Infosys at the beginning of 20187

Ans
1 et AT
Rohan Murthy
v 2 EIEIIG
Salil Parekh

fEremer eepr

Vishal Sikka

'{EIJTI?T el
X 4
Raghuram Rajan

X 3.

Question ID : 9864492258
Status : Answered
Chosen Option : 3

Q.24
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Question ID : 9864494229
Status : Not Answered
Chosen Option : --
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Select the missing figure based on the given related pair of figures.
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Q.25 fagge worE # A & fow ffaf@a & & Fi7 @ a7 g2 B s @2
Which of the following instruments is used to measure electric current?

o Rl
Rheostat
TFHIET
Ammeter
e
Galvanometer
deeHel

Voltmeter

v &)

K 3.

< 4

Question ID : 9864493525
Status : Answered
Chosen Option :2

Q.26 5 FHrer F=r R wewH & TR TEt F SeAT HT 30°. g Tl weewH
3R e F & i gt 4043 e @ & T $ FE e 32

From the top of a platform 5 m high, the angle of elevation of a tower was 30°. If the
platform was positioned 40v3 m away from the tower, how tall was the tower?

w40 e
40m

) 30V3 HX

30V3m

; 203 #HeX

20V/3m

<

x
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Question ID : 9864492697
Status : Not Answered
Chosen Option : --
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4453112?
45 m

v
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Q.27 AT Fr HAg T T w15 1 A 300 N F T2 i Tag T 36 o156 A @

The weight of a boy on the surface of the moon is 300 N. The weight of the same boy on
the surface of the earth will be:

Ans  of 11800 N
X25N
X 3 300N
X 450N

Question ID : 9864493119
Status : Answered
Chosen Option : 4

Q.28 wEdr 2018 W TuTEEr A F FeRe & A gane e 549 sl

‘Who is the Human Resource Development Minister in Prime Minister Modi’s cabinet as
of February 20187

Ans
x 1 T 937
Suresh Prabhu

TeRTel SATI=HT
Prakash Javadekar

X3g3na3ﬂm
Tual Oram
AT amefT
Maneka Gandhi

W2

X4

Question ID : 9864492227
Status : Answered
Chosen Option :2

Q.ZQaiﬁgqmﬁiﬁ;ﬁmmamgm?rz:?%Isvaie‘rgtrma:gﬁm‘mm
# o & o 3R G et ST #1256 5= @ ST 3w § e
CICIRECIEY

The initial ratio of sugar to flour in a dough was 2 : 7. To 9 kg of the dough John added
more sugar to make the sugar to flour ratio 2 : 5. How much sugar did John later add?

Ans 1.2 faheETH
v &)

Question ID : 9864492745
Status : Not Answered
Chosen Option : --

Q.30 Prafafd SRt § ¥ FiF @ WGy 97 ¥ daftT a8 82
Which of the following animals do NOT belong to the class of reptiles?

Ans FTIT
X1 2
Turtle

A
Toad
X3 HT
Snake
4
Crocodile

v 2

Question ID : 9864493515
Status : Answered
Chosen Option : 4
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O3 e THf ¥ WAR & SR A UHE
Pl R gF 9 T

Plants bend towards light due to the diffusion of the
hormone on the other side of the shoot.

Ans 1 HTermTae 37FaT (abscisic acid)
abscisic acid
2 Frafes
gibberellin
75 HIfFEA
auxin
PSR AT

X 4
cytokinin

www.facebook.com/superpathshalaﬂ

Question ID : 9864493456
Status : Not Answered

Chosen Option : --

Q32 Frafofla # @ #ia @ uig Few #f0e sfRmia g
The most reactive of the following metals is:

Question ID
Status

19864493071
:Answered

Chosen Option : 3
Ans X 1. Ni
< 2 Pb
Vs Ca
X 4 Al
Q.33 7T 1000 Fr vk GATTEN 3 I H THGfT A FI T VT A, ar s Y
e = g E Question ID : 9864492566
arfies g1 g fifaw
Status : Not Answered

If sum of ¥ 1000 amount to ¥ 1331 in 3 years, compounded annually. Then, find rate of
interest per annum?

Ans < 1.15%
X 2. 20%
v '3.10%
X 4. 30%

Chosen Option :

Q.34 sl fafire Tgerer WIaIuT (FaE AT & FEa (FE 2018 7)
e §7
Who is the CEO of the Unique Identification Authority of India (UIDAI) as of February
20187

&)

Ans

AT S[EOT IS
Ajay Bhushan Pandey
x 2 AT Sarer

Ajit Doval

X4
Nandan Nilekani

Question ID
Status

Chosen Option :

19864492405
:Not Answered

Q.35 wiF o HFEH 7 3 TEe FeA AGUT FEhT deedT H FAAE AR
¥ v 3= =7 RFew TR S i

‘Which actress won the Kerala State Film Award for best actress in her debut film
‘Anuraga Karikkin Vellam’?

Ans
v U HIRESEG
Rajisha Vijayan

FB Group: SSC Railway GK Aptitude

Question ID : 9864492271

Status :
Chosen Option :

Not Answered
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X2
Parvathy
x5 T ==
Nimisha Sajayan
, FeeT QAT T[oA
Alma Reshma Rajan
Q.36 7F W eaegas fFEr & st vt =t fF swet e R wla @ seEe
fofea & &
T

Fhorer TRET # T BT & T gear @ Afve §

AT

1. Flols IRAT H B FT 3UINT FIA alel OTET T TEAT T =20 fomar
ST

2. Florer aiE 7 BRer off oTg A BT F IIEE F Ao Agal a9

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
Use of cell phone is strictly prohibited on the college premises.

Assumptions:

1. Students using phones on the college premises will be strictly punished.
2. No student is allowed to use a phone on college premises.

A"sx Fael ITAA 1 fAfea §

Only assumption 1 is implicit
s shaol IJAT 2 TAfed g
Only assumption 2 is implicit
1 3R 2 gt fafed €
Both 1 and 2 are implicit

x4_;ra’r13ﬂ'\r;r€rziﬁ‘1%?r%

Neither 1 nor 2 is implicit

Question ID : 9864493695
Status : Answered
Chosen Option : 2

QI a3 & FheT W g TR O AT §2
‘Which of the following metals is the most Malleable?
Ans X' 1. 7n
X2 Al
X3 Ag
v 4 Na

Question ID : 9864493392
Status : Answered
Chosen Option : 2

Q.38 3wy g & FAIIEeT @ F A8 ARET R i (Tweag) ¥ svemer
& w9 # 58 gwa o &2

‘Who has been appointed as the Chairman of the State Bank of India (SBI) after Arundhati
Bhattacharya retired?

Ans " TSI FAT
Rajnish Kumar

FB Group: SSC Railway GK Aptitude

Question ID : 9864492224
Status : Answered

Chosen Option :1
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U T
X3
Rana Kapoor

IEUrECRG]
Kishor Kharat

X4

Www.facebook.com/superpathshalaﬂ

Q.39 7 2250 F TR W 3% WUROT AME T &7 &7 T 2 61 & g =1
oreq gem?

The interest earned on ¥ 2250 at the rate of 3% simple interest per annum for 2 years will
be:

Ans X1.% 225
v 23135
< 3.%202.50
< 4% 67.50

Question ID : 9864492747
Status : Answered
Chosen Option :2

2l e ga
Reciprocal of 2 g
3
X 3;
3
X2 55

Ans

(3.1
13

3
x42€

Question ID : 9864492582
Status : Answered
Chosen Option : 3

W Traff@a & & FiF @ Fu o 22
Which of the following statements is INCORRECT?

Ans «1_
garet & HuT R e 7 2 £

The particles of matter are in stationary state.

<2
Teret & HUT Tk I W AT S

The particles of matter attract each other.

X 3.
e F it & dr F Reg e E

The particles of matter have spaces between them.
gere & FHUT §ga oI A F

The particles of matter are extremely small.

X4

Question ID : 9864493608
Status : Answered
Chosen Option : 3

QAZ%‘EW&IE{-EWQ?H@EWQE—WWWW@#I

ST ol
Select the word pair that is analogous to the given word pair.

Horse : Pony
Ans

FB Group: SSC Railway GK Aptitude

Question ID : 9864494264
Status : Answered
Chosen Option : 1
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v HIET : ool (Larva)
Insect : Larva
X2 oo : feofr
Stag : Doe
| T I e A
Drone : Bee
X 4 dar ; §er
Son : Daughter

x
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Q.43 Tt gea % 37eT AT T TCwoT 3R S & SawEl 1 AT F4T gem?

The ratio of the areas of a square and a regular hexagon, both nscribed in a circle is?
Ans x 1.2:3
X 23y3: 2
v4: 33
x 4. 1 H v"g

Question ID :

Status

Chosen Option :

9864492894

:Not Answered

Q.44 g Tt F silea 6 ¥ ofy Twer o gt # sitee 5 g s sfEe o
& 8 o dimr F@w Far §?

The average of three numbers is 6. The average of the first two is 5 while the average of
the last two is 8. The three numbers are:

Ans x1_25 7.9
X 22,610
v=32.8,8
X 43,78

Question ID
Status
Chosen Option

19864492738
:Answered
63

Q.45 v eafr T i amafen 4 fdiEda § AR Tt ded 40 GéefeT &) et
T AT 3.2 foreiieey &7 gff 97 FT & fordenm wHg adnm:

A sound wave has a frequency of 4 kHz and a wavelength of 40 cm. The time taken by the
sound wave to travel a distance of 3.2 km is:

Ans hd
v 2.0 ¥F

20s

x, 0.5 #F3
0.5s

x o 4.0 ¥
40 s

x4 1.0 #F3
10s

Question ID
Status

Chosen Option :

19864493284
:Not Answered

Q.46 7y gor F iUl g F g wew o, r At F dvar w e #) mw
ar afear =g @ 2
Kolleru Lake, located in the southern state of Andhra Pradesh, is located at the delta of
two rivers. Which are the rivers?

Ans w FSOT HR FEL
.KrishnaandCauvety
leTﬁaﬁﬁaﬂTmﬂa’

Godavari and Mahanadi

FB Group: SSC Railway GK Aptitude

Question ID
Status
Chosen Option

19864492134
:Not Answered

Telegram Channel

: t.me/ssccglinfo\




www.superpathshala.com www.facebook.com/superpathshala/

" gerster AR REmEdr
3.
Tungabhadra and Chitravathi
W 4 3
Godavari and Krishna
Q.47 .
e | SAwEar | wew | fawer | wmewRer % Question ID : 9864494076
A 200 150 50 - Status : Answered
B - 200 100 66.6 Chosen Option : 1
C 150 50 100 -
D 120 - 90 25

f&&r 717 27 & AR W, @7 A & IIEar giaed

City | Population | Literate | Illiterate | % of
literates
A 200 150 50 -
B - 200 100 66.6
C 150 50 100 -
D 120 - 90 25

gl

Based on the given data, the percentage of literates in City A is

Ans o 1. 75
#< 280
# 365
<470

Q.48 77y BT =1v 3gFA # 904F 92 F A HX F sH Pl & agEw 1,2,3.
F w7 T gt g et R Aw, & ude & for e gemet &
Fo AT e geme

R+IM28#QR?+Q@7F3

If each term in the given sequence is assigned number 1, 2, 3... according to their position
from the left, then the sum of the numerical values of the positions of the symbols will be

RHIM2$#QR*O@TF3

Ans x144
X 2. 48
v 5 49
X 4 51

Question ID : 9864494022
Status : Not Answered
Chosen Option : --

Q.49
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Question ID : 9864493688
Status : Answered
Chosen Option : 3
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I T AB TN R W & AT 9=t =T (Problem figure) &1 g9ur giafesT

grm?
Problem Figure
A
% : . £
B
Answer Figures
. i§§ % ?’ % .
* [ ]
A B c D

Choose the correct mirror image of the problem figure when the mirror is held at AB line:
Problem Figure
A
%D . E
B
Answer Figures

FlvAe)

L] [ J
B c D

- X
K2C
Vi3 A
XaD

Www.facebook.com/superpathshalaﬂ

O BT g AL
24 - (20-12 -3 x 8)= "7
Solve the following:

24 = (20-12 -+ 3 x B)=7
Ans x13

<23

<36

v 2

Question ID : 9864493020
Status : Answered
Chosen Option : 4

Q¥ JfE secd + tanf = 4 g ar secH-tanf =?
Ifsec® + tanf = 4,thensecl - tanf =7
Ans X1.0.75
<205
V2025
X4

Question ID : 9864492978
Status : Answered
Chosen Option : 4

@2 gfe 19 x23 =437 &, ar 190 x 0.023 =?

19 X 23 = 437. Then 190 X 0.023 =7
Ans - 2 1.0.0437
X 2437
V'3 4,37
< 40437

Question ID : 9864492680
Status : Answered
Chosen Option : 4

Q.53
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Question ID : 9864494228
Status : Answered

Telegram Channel

: t.me/ssccglinfo\




www.superpathshala.com

RrwmaR R A R T aFscmR s v I
Fa T FUa qE@T F
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Chosen Option : 3

)

T Fr 37 R 82
FY:

1. OIS Fr A FHE 20 T T 7
2. FUNE F TS IHET AT H 3 A T P

Consider the given question and decide which of the following statements is sufficient to
answer the question.

How old is Mrinal?

Statements:

1. Mrinal’s mother is 20 years older than him.
2. Mrinal’s brother is 3 years younger than him.

X
T 91T wee & 3ol & & T 1 el gaieq &, STaiF 2 3Hehell 9ATCH oar
gl

Statement 1 alone is sufficient but statement 2 alone is not sufficient to answer the
question.

X2
T 91T wee & 3o & & T 2 el qaieq &, Said 1 kel 9T =&y
gl

Statement 2 alone is sufficient but statement 1 alone is not sufficient to answer the
question.

3
BT =17 F37 F7 e} & & faw 1 3fiv 2 St v g s 7@ ¥, afiv wor
& 3o & F faw afafea e F amegear 2

Statements 1 and 2 together are not sufficient, and additional data is needed to answer the
question.

r 8
faw 71T wom & oo & & T 1 3t 2 B vk @ v € eife et
ey T e E

Both statements taken together are sufficient to answer the question, but neither statement
alone is sufficient.

Q.54 7 ves ag B A TS AT E, o e 9e i HRY e §1 T8 eI g

Ans

i  formH g &2

When a bullet is fired from a gun, the gun moves in the opposite direction. This illustrates
Newton’s:

Question ID : 9864493540
Status : Answered
Chosen Option : 4

1 #1fer T TgeT 3R gEw
first and second law of motion
, DIGEARGICERGE Lo
third law of motion
FT pir=]
. a1fer & g|ar
second law of motion

4_Trﬁ-‘ra?rq3?-nﬁrm=r

first law of motion

v

x

x

5 AT Hothe &l Aol g Tdolde:

Ans

Aqueous solution of copper sulphate:

Question ID : 9864493169
Status : Not Answered
Chosen Option : --

x ., [OICHE PN TS TE HIA &

does not affects litmus
2
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ol foreHT 7 ol T 7 gRafda aarg
turns blue litmus red

X3

et forearm Y ool o1 7 ufafaa sary
turns red litmus blue

X4
Aol 3 el gt folcAd & yaTfad &ddr &

affects both red and blue litmus.

www.facebook.com/superpathshalaﬂ

A6 & 1% y@er H AT B F =TI

r | C Y ]

Question ID
Status
Chosen Option

19864494186
: Answered
1

(a) (b) (e) (d) (e)

Select the odd figure out of the following figure series.

YT

(a) (&) () d) (e)

@
@

Q57 Mg TAN] F UTEAS FUgIeAl P HEAT el §7
The number of neutrons present in a nitrogen atom is

Ans x1_ 5

Question ID
Status
Chosen Option

19864493490
: Answered
03

X214
X311
V7

O o A ¥ Fi @ Wt ao= =@ 87
‘Which of the following is NOT a radioactive element?

Question ID
Status
Chosen Option

19864493586
:Answered
1

Ans v asefaaw
Titanium
Ko

Plutonium
aiTE

Thorium

X 3.

FB Group: SSC Railway GK Aptitude
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X4 ®

Uranium
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Q.59 fow 77T A7 W F FFAN FaT H o oI H FEA A A A e § Ak
1 & Rrez/sgentaa €, frae 2

7

) e 2
a i :
s °

] —— Boys ()  ——=  Afhletics
SN —— Gins [] —— Disciplined
Boys -@5%

Athletics -f&=msT

Girls -=r=fRar

Disciplined -37genfier

According to the given Venn diagram, the number of boys who are neither athletes nor
disciplined is .

G
4
s B
[0 —— Boyws () ———  Atbletics

N —— oumts ] ——=  Disciplined

Ans  of 110
X 21
X311
x4 7

Question ID : 9864494135
Status : Answered
Chosen Option : 1

Q.60 forw sl fEemdr & 2017 # Feew IoW 3= dsfiea gatie Sfar ar
Which Indian player won the Yonex US Open Badminton Tournament in 20177

e, T T
Sameer Varma
HAT FIH
2,
Ajay Jayaram
X 3. ety fereah
Srikanth Kidambi
T=.UH. QUi
4,
HS Prannoy

v

Question ID : 9864492300
Status : Answered
Chosen Option : 3

Q.61
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Question ID : 9864494244
Status : Answered
Chosen Option : 1
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eI TR R R R TR aR F s @ (@ FF
gemEeme & (@)1

FAT HIHT OF T FE HAgAd AT AT ST gk 3T I FEATET HT
HiEE & A8 Tew & 7

T 1: a9 T HgAd F A ok 319 39 e = ad s s S
TR e H 39T IR & T ATERTSaT e 2

T 2 e ¥ ¥ GET o & e w3 Agaa )
Read the given question and decide which of the following argument(s) is/are strong.

Should you work hard till you make your signature into an autograph?

Argument 1: Work until you no longer have to introduce yourself.
Argument 2: Work hard to become financially secure.

Ans 1! At 2 =t gemTeme A4 &
Neither argument 1 nor 2 is strong.

1 3R 2 @&t gsmaemel &
Both arguments 1 and 2 are strong.
X FaeT g 2 FHEATAT 2
Only argument 2 is strong.
| e % 1 gsTERIe E
Only argument 1 is strong.

x

x

v

Q.62 dey TR A T 31T ¢ 3N 9Tel 79T B & @t arel ¥ J U &7 AT 9T, UF ) .
ﬁnﬁﬁ,m@t#amﬁ#ﬁvwﬁmgﬁm%#mwaﬁ Question ID : 9864492930
vy ¥ 3y sl I S TS ¥ U @ e ¥ A, ey 7 e dae Status : Not Answered
T T & fAT 13.5 U 1 WHT ST §, Safh oo @ ded F 0 A% Chosen Option : --
qgaﬁﬁeﬁimﬁlmmé?r?ﬁr 30 freifer 9fy der & & o
Fr 7 forae freieer 9fy der o

Peter belongs to Town A and Paul belongs to Town B. They start their journeys towards
each other’s towns following the same route at the same time. They meet somewhere on
the way and continue with their journeys. After meeting Paul, Peter takes another 13.5
hours to reach his destination while Paul takes another 6 hours to reach Peter’s town. If
Peter travelled at the speed of 30 km/h, what was Paul’s speed in km/h?

Ans X' 1425
V2 45
X340
X 4475

Q.63 = et &r Ay FEAe: F(9), P(15), CI(17), Ar(18) &1 fawer & & frmr &
deat TEEfe T FA EREr?

Atomic numbers of four elements are as follows: F(9), P(15), CI(17), Ar(18). Which of the .
following two elements would be chemically similar? Chosen Option : --

Ans me 3R Ar
F and Ar

x , Cl T P
Cland P

x . F AP
FandP

Question ID : 9864493594
Status : Not Answered
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v, FE#RCl
F and Cl
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Q.64 =y faw a1v = & AR 3oy e ©F (Answer figures) § ¥ T H Afeafza
famam T §| 3T WEEN 2T (Problem figure) WATESE &ter arem TET
IEERCaC i s

Problem Figure

Answer Figures

A B C D
The below figure is embedded in one of the four answer figures. the correct figure
containing the above problem figure is:

Problem Figure

\/

Answer Figures

B C D

A

Ans X1-B
X2cC
V3D
X4 A

Question ID : 9864493656
Status : Answered
Chosen Option : 3

Q.65 Zrumwpaits Wﬁiﬁ'aﬂ'mﬁﬂ% e it 45 e Fswwea ¥ St o
g §1 T 30 flreTe & s el Ty eI B A e =g 5 & T srar
2l

Two valves P and B can fill a sump in 37% minutes and 45 minutes respectively. Both

valves are opened. The sump will be filled in just 30 minutes, if valve B is turned off
after:

Ans gm
9 min

6 ee
6 min

10 A=
10 min
5 e

3 min

Question ID : 9864492472
Status : Not Answered
Chosen Option : --

Q.66
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Question ID : 9864494143
Status : Not Answered
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A & a5 FE 98 AN 3EF AUN W 9T g arer 3t ey @ v l Chosen Option : --
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J

TAT FL-
#ie (NEET) & 5@ 99laT & &1 o arer asafiei & v e of oo
& #
1. Tt v 1240 Few & Shafae, iR @ wEawE 9 &
FATH 50% g Seclior g =rge
2.31.03.2018 1 wiemsdf s 17 I§ g o
3. vdemeft gamr waw 1247 F Shafrem, €itH @ weeEe Rt &
TR FAT TR

gftemeft 1 : g 1 =A™ 14-05-2001 &, 36« 710, sifaH, @
e Sty # 40% 3 g e

qitemeft 2 : ewA Fr TR 16-08-2000 §, 30 Shafaame, sifadr
TERTET & 60% 3% wrea T E

#fie (NEET) ot forgsy #g @ arar wea 2

Read the given information and decide the appropriate course of action.
NEET examination has laid the following conditions to qualify for appearance in the
NEET Exam.

1. Candidate should pass Grade 12 with a minimum of 50% marks in Biology, Physics

and Chemistry group.

2. Candidate should have completed 17 years as on 31-03-2018.

3. Candidate should have opted for Biology, Physics and Chemistry in Grade 12.
Candidate 1: Ram’s date of birth is 14-05-2001, with 40% marks in Mathematics, Physics,
Chemistry and Biology.

Candidate 2: Sham’s date of birth is 16-08-2000, with 60% marks in Biology, Physics and
Chemistry.

‘Who is eligible to write the NEET Exam?
v Faer qframedt 2 Fr 9rvar grg 2
Only candidate 2 is eligible.

X2
gfremeff 1 3it 2 2T =Y gr=ar greT §

Both candidate 1 and 2 are eligible.
| et qerdt 1 F e area #

Only candidate 1 is eligible.

X 4
o ar gframeff 1 3 7 & 2 & 9rFaT 9T #

Neither candidate 1 nor 2 is eligible.

x

Q.67

Ans

e TFelT a¥g &1 397 SHE IRIF 9T H Il 81 Al § af, FHAT et
Tl ST TR ST it & n I & ST §1 n A B § 2

If the velocity of a body becomes two times its initial velocity, its kinetic energy becomes .
n times its initial kinetic energy. What is the value of n? Chosen Option : 2

Question ID : 9864493201
Status : Answered

X 1.6

1
}(2.5
<33
V4

Q.68

Ans

2 _ax+bw w3 e ar e it FETEAT §
M T~ ax ~ g ¥ Question ID : 9864492535

If the zeroes of the polynomial x* — ax + b are 3 and 4, then ‘a’ and ‘b’ are respectively SEius N ATSTEr

equal to

Chosen Option : --
v 17,12 P

X243
X 33,4
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Q0 geafeEsr B FE F T WEr P T

Problem Figure

Answer Figures

1 2 3 -

Choose the correct figure that replaces the question mark.

Problem Figure

l

Answer Figures

=]
e
£

Ans x1_2
<24
x< 31
Vi3

Question ID : 9864493867
Status : Answered
Chosen Option : 4

Q.70 Fia ¥ sy HPAET #2016 F the Gran @ 3HE 3@ HEW v W RW
(3TET 3 JmEw U3 dew) W gam 2

‘Which Indian actor won the Ordre des Arts et des Lettres (Order of Arts and Letters) from
the French Government in 20167

Ans HATH TT

X2 HATTT T
Amitabh Bachchan
7> FHAA ghT
Kamal Hassan
x5 T EIrCy
Nana Patekar

Question ID : 9864492283
Status : Answered
Chosen Option :1

Q71 3myfores 3mad WOl &, deat @t faw 3me o caratEere foar awr &
In the Modern Periodic Table, elements are arranged in:

Ane AT T H g

v

increasing atomic number

FB Group: SSC Railway GK Aptitude

Question ID : 9864493553
Status : Answered
Chosen Option : 3
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ORATUT TEAT & FHHY

X 2 2

decreasing atomic number

X 3. =
increasing atomic mass number

X 2

decreasing atomic mass number

Q.72
11 SITadr 2018 T IREAR gl 115 2019 H Hied &1 G gem T

11 January 2018 is a Thursday. On which day will 11 June 2019 fall? Status : Answered

Ans '{ﬁ:’ﬁlﬂ Chosen Option : 3
Ko
Sunday

HTeldX

| Tuesday
CCIEY

-

| Wednesday

X 4
Monday

W2

K3

Q.73 oiffies gur & &7 # o Fad a2 ey FeA T AR sEAwAs B
9T ot 98 i 27

His greatest achievement in the field of religious reform was the setting up of the Brahmo
Sabha and the Brahmo Samaj. Who is he? Chosen Option : 1

Ans x1ﬁnﬁ'ram;iz;mﬁr

Question ID : 9864492101
Status : Answered

Swami Dayananda Saraswati
3 =T, AT THEST HEEEA
Dr. Bhimrao Ramji Ambedkar
| T e
Swami Vivekananda
| T T AT 1

x

Raja Ram Mohan Roy
74 N :
Q74 faw a7 fawredl F O TE FART SIS FT =TI S Question ID : 9864493714
Status : Answered
aﬁﬁﬂ' : EE[IFI' Chosen Option : 3

Select the correct analogous pair from the given alternatives.

Bible : Quran
Ans AT © Hel™=T
S0 2
God: Man
94T - T
X2 ©
Worship : Place
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AfeT ; wrdar
X3
Temple : Pray
v BT . I
Apple : Orange
Q75 36, 72 3T 126 Fr AH. fhgar gem? Question ID : 9864493023
What is the HCF of 36, 72 and 1262 Status : Answered
Chosen Option : 4
Ans x 1.9
X236
<312
v 418
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